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DEMANDE DE RENSEIGNEMENTS N
O 2 DE SOCIÉTÉ EN COMMANDITE GAZ MÉTRO 

(« GAZ MÉTRO ») À OPTION CONSOMMATEURS (OC) 

 

1 Référence : (i) Pièce C-OC-0047, Mandate, page 5, l. 19 et 20  
 

i) « We note that Ms. Rowan received expert-consultant assistance from Dr Higgin for 

subjects 1 to 3 and Mr. Wilson for subject 4. » 

Demande : 

1.1 Fournir les références précises (pages et lignes) des passages dans la pièce 
C-OC-0047 qui se fondent sur l’assistance fournie par les Dr Higgin et Wilson. 

 

2 Référence : (i) Pièce C-OC-0047, 3.1.1 Reasonableness of 2012-2013 Salary 
 and Wages Budget, page 8, l. 9 à 14 

i) « Our analyses defined the average increases in the Salaries and Wages over the 

period of the IM in the following ways: 

 Salaries and Wages Projected and Actual (Current $) 

 Salaries and Wages Projected and Actual (Constant $) 

 Salaries and Wages Projected and Actual (CPI-X $). » 

Demande : 

2.1 Fournir chacune des analyses auxquelles il est fait référence dans l’extrait i). 

 

3 Référence : (i) Pièce C-OC-0047, 4.2 Analysis of Historic Forecast, page 17, l. 18 
 à 20 

i) « One important finding is that customer number Projections and Actuals are not 

symmetrically distributed. There is an average consistent and obvious annual customer 

addition forecast error of about 1000. » 
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Demande : 

3.1 Comment l’erreur alléguée moyenne de 1000 clients est-elle calculée? Fournir 
tous les calculs au soutien de ce résultat. 

 

4 Références : (i) Pièce C-OC-0047, Conclusions method to hold regulated 
 customers harmless, page 29, l. 29 et page 30, l. 1 
(ii) Pièce C-OC-0047, Conclusions method to hold regulated 
 customers harmless, page 30, l. 8 
(iiI) Pièce C-OC-0047, Conclusions method to hold regulated  
 customers harmless, page 30, l. 15 et 16 

i) « […] to cover potential transaction costs associated with increased complexity […] » 

ii) « […] any potential costs/risks and to provide a reasonable sharing […] » 

iii) « […] since GM was unwilling to proceed given a quite limited share of benefits 

($3 million) flowing to ratepayers. » 

Demandes : 

4.1 OC parle de « potential transaction costs ». De quels frais de transaction OC 
parle-t-elle ici? 

4.2 OC parle de « potential costs/risks ». Selon OC, quels pourraient être ces 
risques? 

4.3 OC détermine à 3 M$ la portion du « bénéfice » que Gaz Métro devrait payer aux 
clients. Comment OC a-t-elle déterminé ce montant? 


